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QUESTION 1

The operations team is onboarding new interns in Active Directory. The interns need to work in the company\\'s
vRealize Operations environment while maintaining corporate security compliance. The intern Active Directory group
should only have PowerUser role to a specific vCenter cluster and ReadOnly for all other objects.

Which option would meet the requirements?

A. Create new Active Directory accounts and import the intern user accounts. Create a new role for the interns and
assign appropriate permissions on objects.

B. Add the interns to a new vRealize Operations Active Directory Group. Import the Active Directory group and grant
access to relevant objects and all actions for the specific vCenter cluster.

C. Add the interns to the existing vRealize Operations administrators Active Directory group and grant access to
relevant objects and all actions for the specific vCenter cluster.

D. Create a new Active Directory group for interns. Synchronize intern Group, create a new role for the interns and
assign appropriate permissions on objects.

Correct Answer: A

QUESTION 2

A financial business wants to reduce the time-to-market by automating the end-to-end testing of a prime service
application and releasing it with minimal user intervention.

Which service in vRealize Automation will allow the business to achieve the requirement?
A. Cloud Assembly

B. Code Stream

C. Service Broker

D. Orchestrator

Correct Answer: B

QUESTION 3

An architect is responsible for creating the design for a Cloud Monitoring solution that will be used to
monitor a greenfield VMware Software-Defined Data Center (SDDC). During a requirements gathering
workshop, the Service Owner provided a list of solution requirements:

The solution must support a monthly availability target of 99.9%.

The solution must support the monitoring of 1000 virtual machines across two data center locations.
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The solution must support the retention of live data for at least 12 months.
The solution must be redundant to a minimum of N + 1 including during planned maintenance.
The Recovery Time Objective (RTO) of solution is 4 hours.

Given the information from the Service Owner, which two statements would be considered functional requirements?
(Choose two.)

A. The solution must support the monitoring of 1000 virtual machines across two data center locations.
B. The Recovery Time Objective (RTO) of solution is 4 hours.

C. The solution must support a monthly availability target of 99.9%.

D. The solution must be redundant to a minimum of N + 1 including during planned maintenance.

E. The solution must support the retention of live data for at least 12 months.

Correct Answer: AE

QUESTION 4

What are the two valid characteristics of vRealize Automation Cloud? (Choose two.)
A. Supports on-premises vSphere and vRealize Orchestrator

B. Requires a standard license

C. Requires a load balancer

D. Supports on-premises vRealize Operations Manager

E. Has a frequent release cycle

Correct Answer: CD

QUESTION 5

An architect is responsible for reviewing the requirements for an existing Cloud Management solution design.
Which requirement would be considered as a functional requirement?

A. The solution must meet a monthly uptime SLA of 99.5%.

B. The solution must meet a Recovery Point Objective (RPO) of 1 day.

C. The solution must support the management of workloads within a public cloud.

D. The solution must meet a Recovery Time Objective (RTO) of 4 hours.

Correct Answer: C
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